
6.1- B- Pyramids

Formula:
AL

(Lateral Area)
AT = AL + Ab

(Area total)
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Ex 1: Find the surface area 
of the pyramid of Giza.

AL = ���
�

= �����.�	�
��.�	�

Lbase=240.3 m

S=186.4 m

= 89 583.84 m2
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Ex 2: P. 182 # 18c)

AL = ���
�

= ��	�
�	��
	�
= 2214 cm2

18 cm

41 cm
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Ex 3: P. 182 # 22
=     ��


� - ���
� + b2

= ���.�	�
.��	� - ���.�	�
.
�	
� + (0.6)2

= 2.48 – 1.39 + 0.36
= 1.448 m2

Number of cans = 1450 / 40 
= 37 cans 

AT = AL BIG PYR – AL Small pyr + Aupper base

Total area for 1000 Blocks = 1448 m2
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0.8 m

0.6 m

1.2m

0.4 m

S = 1.6� � 0.4��

= 1.55

s= 1.2� � 0.3��

= 1.16

Practice:
page 182 # 18, 20, 21, 23,24,25

5


